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QUESTION 1

What needs to be defined in order to track changes made to a system-period temporal table over time? 

A. Once the row-begin, row-end, and transaction-start-id columns are created, all changes are tracked. 

B. A history table must be created with identical columns to the base table and a unique index must be defined on the
transaction-start-id column. 

C. A history table must be created as a clone table of the base table after the row-begin, row-end, and transaction-start-
id columns have beendefined. 

D. A history table must be created with identical columns to the base table and then the base table altered with the ADD
VERSIONING clause torelate it to the history table. 

Correct Answer: D 

 

QUESTION 2

Which DB2 object is used to provide a logical grouping of other database objects? 

A. Alias 

B. Index 

C. Schema 

D. Collection 

Correct Answer: C 

 

QUESTION 3

When is a mask used to limit access to data in a table? 

A. When mandatory access control (MAC) is used to protect the table. 

B. When discretionary access control (DAC) is used to protect the table. 

C. When label-based access control (LBAC) is used to protect the table. 

D. When row and column access control (RCAC) is used to protect the table. 

Correct Answer: D 

 

QUESTION 4

Which DB2 object can be used to improve the execution performance of qualified SELECT statements? 
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A. Trigger 

B. SQL Procedure 

C. Sequence Object 

D. Materialized Query Table 

Correct Answer: D 

 

QUESTION 5

What is the purpose of a role? 

A. To define exactly what a specific user can do within a particular database once they have been authenticated. 

B. To group a collection of privileges together so that they can be simultaneously granted to and revoked from multiple
users. 

C. To establish a credible relationship between DB2 and an external entity, such as a database administrator or a
middleware server. 

D. To group a collection of users together so that they can be simultaneously granted and revoked specific authorities
and privileges. 

Correct Answer: B 
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